Construction division. Advice for giving credit to contractors/suppliers.

Sl. No. – site bills		0		- site bi	lls	27-0	4-22
register	4	<u>S</u>	Regi Site:			210	7
Company Name:	MRP	LLP	Site.			_/\/9	h
Name of Contractor	G	7- SHE	halot	Ha		154	
Nature of work		Earth		k			
Work done	From Dat	e /	0-02	-22	Date		04-22
Sl. Villa/Flat/block no	Qty.	R	ate	Units	Amou	ınt	Contractors bill no
No. L. Facavalien for Bk	Wa li	777	02/-	Cft	95	55/	
2. Lassy g	11.7	1-1	02/-	cft		644 F	
3.	Cipa		2/-	CF+		85 F	
4.	108:	(2/-	CZ+	21,	756/-	
5. Excavation so Shop	1.		121	Q1	F	2001	
6 wall	38	50 0	12/-	G87	す;	700 F	
7.	1.56				- No.		
8. Docsang wa	9sk 85	34 1	21/-	577	858	846	
9.	B 1		· .				
10.							
	otal:	_	_	-	190	524/-	ENA
Bill required	PYES C] NO.	F1 =	bill requ	- 1 /	☐ YES	
Measurement &	□ Req uir			surement		□ Not e	
estimate sheet: PO/WO no.	□ Not rec	quired		WO date:		L Not e	liciosed
	/				1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	4 161	- 188
Remarks: Wo	SK C	omp14	Jed.				
1,2		1977 2017 2017 2017 2017 2017 2017 2017 20					
				1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1			
1 H	4		e e			The Contract	1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1
				*177	1 1 V.		
Approved by Project M	anager	Approve	d by Des	sign Tean	n Ap	proved by	y M.D.
Date: 27-04-	-22	Date:	180		Da	te:	
Sign:		Sign:		Mining to	Sig		Sing labour kille k

Notes: 1. This advice must be sent within 7 days of completing work. 2. This form can be used for certifying labour bills, bills for hire charges, earth work, turnkey civil contractors. 3. Wherever not applicable – fill NA. 4. Estimate and measurement sheets are not required for turnkey jobs where guideline rates are clearly given.

Bill for Labour Charges

G.Snehalatha Addres:H.no -45,Suryanagar,mallapur Hyderabad

Date:27-04-22

In favor of:

Nilgiri Heights

Project / Site:

Nilgiri Heights

Location:

Pocharam

Type of Work:

Exacavation work

Towards:

Allowance for Labour Charges

S No.	Description	Amount
1.	Brief description of work done: Towards completion of Excavation of soil and south retaining wall for block B and dressing work also.	Rs.36609/-
	Total Amount =91524/-	
	Work done from date 10-2-22 to date: 23-04-2022	

Amount in words: Thirty six thousand six hundred and nine rupees only.

Sign:	

Bill for Equipment Charges

G.Snehalatha Addres:H.no -45,Suryanagar,mallapur Hyderabad

Date:27-04-22

In favor of:

Nilgiri Heights

Project / Site:

Nilgiri Heights

Location:

Pocharam

Type of Work:

Exacavation work

Towards:

Allowance for Equipment Charges

S No.	Description	Amount
1.	Brief description of work done: Towards completion of Excavation of soil and south retaining wall for block B and dressing work also.	Rs.36609/-
	Total Amount =91524/-	
	Work done from date 10-2-22 to date: 23-04-2022	100 - 101 -

Amount in words: Thirty six thousand six hundred and nine rupees only.

0.			
Sign:			
		 	-

Bill for Consumble Charges

G.Snehalatha Addres:H.no -45,Suryanagar,mallapur Hyderabad

Date:27-04-22

In favor of:

Project / Site:

Nilgiri Heights Nilgiri Heights Pocharam

Location:

Type of Work: Towards:

Exacavation work

Allowance for Consumble Charges

S No.	Description	Amount
1.	Brief description of work done: Towards completion of Excavation of soil and south retaining wall for block B and dressing work also.	Rs.18304/-
	Total Amount =91524/-	
	Work done from date 10-2-22 to date: 23-04-2022	

Amount in words: Eighteen thousand three hundred and four rupees only.

Sign:				
Bigii.	-	 	 -	

MEASUREMENT SHEET		1		Anthing	Antipoed by Vilay rai	ilav rai	1	
	MRPLLP			Approv	ed by. v	LJay Iaj		
	Nilgiri Heights							
escription:	Earthwork							
Contractor:	G.Snehalatha							
Prepared By:	Anil.M							
Date:	27.04.22							
		I contacth	Width	Height	Zo's	Onantity	Units	Item Head Total
S No. Item nead	TOTAL TARGETT	0		100				
Block- B Excavation south part	south part							
Excavation of soil for	Excavation of soil for block-B footings purpose	35.0	39.0	بة رأت	1.0	4,777.5	Cft	
0.000		93.0	22.0	3.5	2.0	14,322.0	Cft	
		33.0	35.0	3.5	1.0	4,042.5	Cft	
		74.0	42.0	3.5	1.0	10,878.0	Cft	
			, v					
Exacavation of soil for block B south retaining	Exacavation of soil for block B south retaining wall purpose	60.0	6.0	10.0	1.0	3,600.0	Cft	
		25.0	22.0	7.0	1.0	3,850.0	Cft	
2 Dressing work	Dressing work for laying pcc bed in the excavation part	35.0		1.0	1.0	1,365.0	Sft	
		93.0		1.0	1.0	2,046.0		
		33.0	35.0	1.0	1.0	1,155.0	Sft	
		74.0	42.0	1.0	1.0	3,108.0	Sft	
		60.0		1.0	1.0	360.0	Sft	
70		25.0	22.0	1.0	1.0	550.0	Sft	
		-						

91.524.00	Total amount:					The second secon	
	550,00	1.00	Sfi	550.0			
	360.00	1.00	Sfi	360.0			
	3,108.00	1.00	Sfi	3108.0			
	1,155.00	1.00) Sft	1,155.0			1
	2,046.00	1.00	Sfi	2046.0		0	1
	1,365.00	1.00	Sft	1365.0		Dressing work	
	7,700.00	2.00	CII	3850.0			
	7,200.00	2.00	Cft	3600.0	Exacavation of soil for block B south retaining wall purpose	Exacavation of soil for block B south retaining wall	2
	21,756.00	2.00	Cft	10878.0			
	8,085.00	2.00	Cft	4042.5			
	28,644.00	2.00	Cft	14322.0			
	9,555.00	2.00	Cft	4777.5	Excavation of soil for block-B footings purpose	Excavation of soil for block-B footings	1
					м п	Block- B Excavation south part	Blo
Item Head Total	Amount It	Rate	Units	Quantity	Item Description	Item Head	S No.
					2.04.22		Date
		-			AnilM		Prepared By:
					G.Snchalatha		Contractor
The second secon					Earthwork	Work Description: E	Vork D
					Nilgin Heights	7	Project
Management for second and production also defined the second and s	iJay raj	Approved by: Vi.	Approv		MRPLLP	Company Name: M	uncuro
The second secon	The second second of the Second second		-	-		POTESTS CONTEST	34 2 72

*

